ARBRBEATE (HBEON) [CLHEARTJBERR (EHRIE)

RO RER B IR ENFFERT
BEH R B PIEFHENERIAR (F=—F : 30312)

2 BIEHIR SfM4FEA4H21H OK) ~5 4238 (H) (31 B ; &% & - itEHZ2RL)
3 EHEMAHMEAZE GEMITESESE GIS THERLTTFEV,)
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4 BAIERRE REEFEOEFRRNRTEHAMTMICLS.)

(ZE L LIoEBERFESTT HR (—R)  REBEARITE. KER (—KF) : RREARTE)
(1) ZERERRE (SO2) (BREB : BIEXR)
[BREGHEAE] 1 HEREME O 1 B FEHIEA 0.04ppm L FTH Y . 23>, 1 REZ 0.1ppm LA F CTH D Z &,
e | ME | g o, . n o
(B) | %D | (pm) | pm) | GEED | (%) | @pm) | (B) | (%) |{ FFERL:X
P AHE N BIEAR | 31 739 0.000 | 0.002 0 0.0 | 0.001 0 0.0 O
KR (%) 31 740 0.000 | 0.002 0 0.0 | 0.001 0 0.0 O
(2) EREILY
7) ZHIEER (NO2)
[BREEEHUE] 1 RFfMED 1 H FHIEDS 0.04ppm 25 0.06ppm £ TOY —VNELIZZENLU T THDLZ &,
E;é e |t | RO 0.06 ziiﬁz\i iéj0 f LI T 0.06 Eﬁﬁﬁ
WER-HAE | pg | 0 TR R 0 e | S RO AR ZORA [ e J
(F) | (M) | epm) | Gpm) | pm) | (A) | (%) (R) (%) IR : X
BB AHE NS TRR | 31 739 0.001 0.006 0.002 0 0.0 0 0.0 O
R (%) 31 739 0.003 0.010 0.006 0 0.0 0 0.0 O
KR (%) 31 738 0.002 0.015 0.004 0 0.0 0 0.0 O
1) —BILEFR (NO) RUZEFREIEY (NOx)
_ —fit=EFR (NO) _ ZFMY (NO+NO2) D
(H) (Rff#E) | (ppm) (ppm) (ppm) (H) (IFf#H) | (ppm) (ppm) (ppm) (%)
BRI ATE SRR | 31 739 0.000 0.002 0.000 31 739 0.001 0.007 0.002 98.5
AR (%) 31 739 0.000 0.002 0.000 31 739 0.003 0.011 0.006 98.5
A& (%) 31 738 0.000 0.007 0.001 31 738 0.003 0.019 0.004 95.1




(3) HIEEAXFF2 F (Ox)
[BRErEuE] 1 PRI 0.06ppm L FTHH = &,

BB o 1 B[t RO B 55 L
=D | ERD 0.06ppm %% 7 | 0.12ppm L0 s giﬁﬁ
R - Mg | BE B | BERR | g | By | 0-06PPM @A 7Z | 0.12ppm LEERIED |~
BETR - e CTRE RS e nemse | Rscommis | gagy || B O
B | o | opm) | pm) | (H) | (R | (B) | SR | (pm) | 7TERCEX
Rl B AT 175 PN S T AR 31 465 0.034 | 0.074 5 23 0 0 0.047 X
BHE (5%5) 31 465 0.041 | 0.079 8 46 0 0 0.054 X
AKER (&5) 31 464 0.042 | 0.078 11 48 0 0 0.055 X
X TR 1AL 16 A5 20 RFE T
(4) miEKF (BREB. ABF : BIERZMN)
7) AR UiiEkFE (NMHC)
W 7 6~9 R OLGFHE 6~9 Rr> 3 REfHSEHIMEDS | 6~9 RED 3 IR R 23
s El?,’f( Eﬁff"ﬁ SEEIfE W . - 0.20ppmC %8z 7= 0.31ppmC % ih 2 7=
IR R - A4 i | PN | R | s A% L 7 DES A%k & 7 DElS
(H) () | epmC) | (H) | (ppmC) | (ppmC) | (ppmC) (H) (%) (H) (%)
FIE RSN | 31 743 0.04 31 0.04 0.06 0.02 0 0.0 0 0.0
14) A% (CHs) RUEKRIEKZE (THC)
A K 2 ;R b K F
W I 6~9 R D FHE e e 6~9 KD HE
HIE R - Hsi4 ’ SEEME [ == o ; SEEE [ =
| Eef *gjgz Tt | RemE | s | BB | WM “I'E:ng T | R | R
(H) (KEfE) | epmC) | (H) | (ppmC) | (ppmC) | (ppmC) | (H) (Kf#) | (epmC) | (H) | (ppmC) | (ppmC) | (ppmC)
AR TSN BRIARR | 31 743 1.92 31 1.93 1.99 1.79 31 743 1.96 31 1.96 2.01 1.81




(5) FEHMFIRYME (SPM)

[BREZZEE] 1RO 1 B FEHIMED 0.10mg/m3 L FCTH Y . x>, 1 FFEMED 0.20mg/m3 L FTHDH Z &,

E;}i il o 1 Bk A x H ¢ ¥ fE , ﬁiﬁ\‘ﬁ;ﬁ
BER - sk | pg | W Rt | ComE T gt | O1RE N e O

() | (%0 | (mgm?) | mg/m?) | GFED) | (%) | mg/m?) | () (%) | R X
PR TE N BSIRAR | 31 744 0.008 | 0.035 0 0.0 0.018 0 0.0 O
AR (%) 31 744 0.013 0.035 0 0.0 0.027 0 0.0 O
AKER (B3E) 31 743 0.010 | 0.024 0 0.0 0.019 0 0.0 O

(6) uhiiFIRYME (PM2.5)
(2E) [BREAYE] 1 FEN 15ug/m3 L FTHY, 230, 1 HFHEN 350 gm3 Ll FThHDHZ L,

| e Y — O ¥ fE B (EHIEE) o
o WE | e | PO [ [ agmi BT | o EHIRORE (98%1E) 12Xk %
WER - ns | g | 7" e HEE | Ch s zpma | 98P | BTN 35, g/md 2 X 7 B KK
() | ) | (pgm?d) | (ugmd | (ugmd) | (7) (%) | (i g/m? (B)
BA] B AR PN BRI AR 31 743 9.2 40 19.8 0 0.0 16.0 0
fRHEE (&) 31 743 10.5 28 20.5 0 0.0 19.7 0
RKER (&) 31 743 9.2 30 16.5 0 0.0 15.8 0
M1 BRI B2 T,
(7) —BERZE (CO) (AR, AZR : AEREN)
(BB ] 1 ERIEO 1 FOFE7S 10ppm BUFCoH 0. Ao, 1 EEHIED 8 BERIEIEAS 20ppm MU F G % = &,
g5 | . ERECL B ML
bl W& 1 REfEME | 8 FEfEIEZY 20ppm % N o A
EJ ISz o & - . {s] Z %{ZI\
wem - s | g | 0| T i | wx ez ons | e | O0em EEEE ) RO
(H) | ) | (opm) | (ppm) () (%) | pm) | (B) | (%) |l FFEA: X J
Ba] B AR PN BRI AR 31 743 0.1 0.3 0 0.0 0.2 0 0.0 O




(8) Am (WD) RURZE (WS)

75
Tl we | vy | Rz | B
WER - HA5% | fg FFfH] R JE T e K JEE
(H) | (ERRE) | (m/s) | (16 H{r) (m/s)
BT AHE N BEIAAR | 31 744 0.4 ESE 1.4
VT
B[] SR (%)
N 0.0
NNE 0.1
NE 0.1
ENE 0.8
E 11.7
ESE 15.6
SE 12.8
SSE 5.2
S 4.2
SSwW 4.7
SW 6.0
WSW 11.2
W 0.5
WNW 0.1
NW 0.0
NNW 0.0
CALM 26.9
. 0~1.0m/s 1.1~2.0m/s | 2.1~3.0m/s | 3.1~4.0m/s | 4.1~5.0m/s | 5.1~6.0m/s [ 6.1~7.0m/s 7.1m/s~ £
5 BEH] % |BEH] % |AEH| % |AEH| % |HEH] % [AFEH]| % |AEH|] % |BEH]| % |BEH] %
NNE 1 1000 © 00 0 00 0 00 0 00 0 0.0 0 0.0 0 0.0 1 0.1
NE 1 1000 © 00 0 00 0 00 0 00 0 00 0 00 0 00 1 0.1
ENE 6 |1000] o 00 0 00 0 00 0 00 0 00 0 00 0 00 6 08
E 87 |1000| o 00 0 00 0 00 0 00 0 00 0 00 0 00 87 | 117
ESE 112 | 9656 4 34 0 00 0 00 0 00 0 00 0 00 0 00 | 116 | 156
SE 95 |1000]| o 00 0 00 0 00 0 00 0 00 0 00 0 0.0 95 | 1238
SSE 39 |1000| o0 00 0 00 0 00 0 00 0 00 0 00 0 00 39 52
S 31 |1000]| o 00 0 00 0 00 0 00 0 00 0 00 0 00 31 42
SSW 33 | 943 2 5.7 0 00 0 00 0 00 0 00 0 00 0 00 35 47
SwW 44 | 978 1 2.2 0 00 0 00 0 00 0 00 0 00 0 00 45 6.0
WSW 74 | 892 9 108 0 00 0 00 0 00 0 00 0 00 0 00 83 | 112
W 4 |1000| o 00 0 00 0 00 0 00 0 00 0 00 0 00 4 05
WNW 1 1000 © 00 0 00 0 00 0 00 0 00 0 00 0 00 1 0.1
NW 0 00 0 00 0 00 0 00 0 00 0 00 0 00 0 00 0 00
NNW 0 00 0 00 0 00 0 00 0 0.0 0 00 0 00 0 00 0 00
N 0 00 0 00 0 00 0 00 0 00 0 00 0 00 0 00 0 00
CALM | 200 |1000| o 00 0 00 0 00 0 00 0 00 0 00 0 00 | 200 | 269
Rit 728 16 0 0 0 0 0 0 744 1000

CALMILE%72 (EE0.2 m/sec A T DIHFHR) E#RT,




(9) mE (TEMP)

ﬁ% \ 1 P R ALY
i WIE | WERER | FEE —— —
HIE S - HE4 H %% e | BBl | il | Al
(H) (FFFET) (C) (C) (‘C) (‘C) (C)
Rl AT PN TR AR 31 744 12.0 23.2 -0.3 16.4 6.2
(10) BE (HUM)
GE NN 1 B EREE]:}
\ WE | BEER | T —— =
HIE S - HE4 H %% BerfE | BBl | il | Al
(H) (FRFFET) (%) (%) (%) (%) (%)
R AT PN RS TR AR 31 744 80 98 17 97 55
(11) B5=E (SUM)
H%h
‘ mE | wws | LIOED
WIESR - US4 | gy Sk fiE
(H) (FRFFET) MdJ/m2
BAl B Vi PN ST AR 31 744 1.43




(12) FZlRHAMTEHE

S (D) Al 112 |3| 4|5 |6 | 7|89 |10[11|12|13|14|15[16| 17|18 [ 19|20 |21 |22 |23 |24
bR (ppb) ololojo|o|lO|]O|O]O|]O|O|]O|]O|O|]O|O]O|]O|O]O|]O|OJ]O]|oO
— (k%5 (ppb) olojlojojojo|O]O|lO|]O]O|]O]O]|]O|O]O|]O]|]O]O]|]O]|O]|O]|O]O
—F2{tZ= 3 (ppb) i1{of1|0|O0|O|O|O]|1 |1 |1 1|11 |1 |1|1]1|1|1]1]1]1]|1
E Rt (ppb) it{of1|0|O0|]O|O|O]|1 |1 |1 |11 |11 |1|1]1|1|1]1]1]1]|1
— W% 5%(0.1ppm) 111|111 |1}1|1|1|1|1|1|1|1|1|1|1]1|1|2]1|1]1
JeAb A& Nppb) |20 [ 19 |19 |17 |16 | 16 | 19 | 25 |30 | 33 | 37 | 40 | 41 | 42 | 43 | 43 | 42 | 40 | 35 | 30 | 26 | 24 | 22 | 21
FEMVRALAKSE (00lppmC) | 4 | 4 | 4 | 4 | 4 | 3 | 4 | 3| 4 | 4| 4| 4| 4| 4| 4] 4|4 | 4| 4] 4|4)|4]|4]4
A% (0.01ppmC) 192(192(192(193|193|193 (193|193 193|193 (193|193 192191191191 /191|190 190|191 191|191 |191|192
2Rfb/AkFE (0.01lppmC) |196|196 | 196 | 196 | 196 | 196 [ 196 | 196 | 196 [ 197 [ 197 | 196 | 196 | 195 [ 195 [ 194 (194 | 194 | 195 [ 195 [ 195 | 195 [ 195 | 195
R IR E (1 g/m3) 8|9|8|9|8|6|7|6|6|6|8|8|8|8|10[10[/10[10[11]10] 9 |[10[10] 8
MR R E(n g/m3) | 8.0|7.2|6.6|5.8|5.0|4.5(3.7|34(39|55|75|85/9.3/10.3/11.4|12.7(14.0/14.6/15.3|15.2|14.2/12.5/10.7| 9.3
(13) EARHFEFHIE
e H
HE () H H K 7K N & +
bt 5 (ppb) 0 0 0 0 0 0 0
—#{r %% (ppb) 0 0 0 0 0 0 0
—F#{bZ% 3 (ppb) 0 1 1 1 1 1 1
ZEF B (ppb) 0 1 1 1 1 1 1
— (x5 (0.1ppm) 1 1 1 1 2 1 1
JeAbFEAF > & b (ppb,24 KR 28 27 23 31 33 31 31
Ay RAbKFE (0.01ppmC) 3 4 4 4 4 4 4
A% (0.01ppmC) 192 193 192 191 192 191 191
2RAbAKFE (0.01ppmC) 196 197 196 195 196 195 195
R IR E (1 g/m3) 8 6 6 9 12 8 10
WUINRL IR E (1 g/m3) 7.6 6.7 8.2 11.0 12.2 8.5 10.0




